PART-III
Cur@mefluey / ECONOMICS

(50 wOPD S kidler qug ; Tamil & English Version )

&rey Harey : 2.30 wanfl Gy ) [ Gurés mgugua?wa;sh' 140
Time Allowed : 2.30 Hours | [ Maximum Marks : 90

Sibleyenrsst : (1) ymeansg Eﬁ]:arrrr&;a;@m sflurs veurd o dreTsr o emLSen e
sflurtsgs Qanmdereyh. edstueia Gapulmuder, =i@ps
samareniuuraTiib o | angqwrss Gaflefssayb.

2) Beob sdag smuy eowwllomar Wl GG TsHaSHED
&qé;{hrrq@sugﬁ)@m LweaTuBES GalembHin. LILBISET cuenTeuSNE
GQuenleh Lwemu@ssayb.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

u@s -1 fi'ART -1
GPly : () oewenss elamssEnssh o vafiEsab, 20x1=20
(i) Gasr@ésuul@erer wrpy doLsad Hsabd ghyew
eflenL_enwis GaiibEsHs5S5 GOSC B en eflen_uflenamyb Ceisg
eT(pBaLD.
Note: (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the cofresponding answer.
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(1) e @U;g (FF) o Coucosdn
(@) b v
is :
The author of scarcity definition y |
(a) Alfred Marshall | @ ionel Robbins
" (d) Samuelson

(¢ Adam Smith

2. Lpenoll QuirgpeTTSTFLD GTamLg)! -
(1) GL_LenarTLl @urr@errrrgmnb

(=) Lemeflwed QUTEBETTSTILD
(@) seraflana|L @urr@errrrgrrmb (rF) ghensl QUITBETTSTILD

Traditional economy is a :
(a) Command economy
@ Subsistence economy

(b) vMonetary economy
(d) Market economy

3. Qendluenowns, aIsgl, pLIDLT LIGHTL_MBI&ET GTeTLIg)

(1) LIWGTLITL Ig 60EIT Gl LiLg)

(<=1) Coamauanwits GflLILIG)

(@) Qeeus LETLEiG@ET U LIRSS

(F) efl@pLliLmGmeT euensLILI(hSSIeIg)

Necessaries, comforts and luxuries are :

(a) Classification of utility

(b) Classification of demand

(c) Classification of free goods and services
@ Classification of wants -

BISTGeUTT eTESLD TG :

(=) Comeu =yafliiy g (=) Cganau > Siefily

(8) 5658 e —2_aimanio Nenay () MVn=TVn- TVn—-1

Consumer surplus is : | | .

(@) Demand =Supply (b) " Demand > Supply
(@ Potential Price — Actual Price (d) MVn=TVn—-TVn-1
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5. Qo flow Lwuar® yhelunrgn GuTs

(=) Qurssys LWeTUTH iflsfsss Qg bEHDS!

(=) Qrssl LR Gonuwis ngm__@@a‘ﬂmgﬂ

(&) Qurdsl Lweur@ Ws GPDHg AGTDE M CLAIES

() Qurgsl LweTur( o &8 ereng orL-(HEDS!

When marginal utility becomes Zero -

(a) The total utility starts increasing

(b) The total utility starts decreasing

(c) The total utility reaches the minimum
@) The total utility reaches the maximum

6. . Caemeuulfler idlafliemu @g;em PLP@OLD GHTETEITLD
(<=1) Caenal auaaTGaHTL 16T 2 &g LiaTef -
(<=1) Coemen auamerGariigen &L Liarerl
(&) Coemae @JGU)GT@SSI‘I'@-@I_L'D QLIWITag)
() @Cr Csmaeu cuamerGaT g6 Baihg CFDRISE
Increase in demand is shown by :
(a) The highest point on the demand curve
(b) The lowest point on the demand curve'

@ Shifts of the demand curve
(d) Movement along the same demand curve

7. GNEGES Cemea CpApES erélioemn cramanmis G)(HHSTa :
(<=1) X ueTptd Y uampd LSS O Liaim_bige
(=) X wewr_@po Y LJG&UTl_@)Lb Blepmemen Ligledlserr
(@) X LGTLapth Y LGhTL(ptd 2 paudpanay
(/F) X LIG@TL (LD Y LIGHTL (LpLD o L @Il LiGhTL rhigeT
When cross elasticity of demand is negative :
(a) Xand Y goods are substitutes
() Xand Y goods are perfect substitutes - |
(c) XandY goods are not related
@ X and Y goods are complementary
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8.

10.

cefufled |
FLojflanev Lerarflud

-Gmmurrcb@l ‘
(1) odera [ 5 o

b iaflu o |
(<) Gﬁmeuwlwq. Ggm@g,(gg;n@ 2MUILE Cami_gn, Gt o
(@) @Liyerefluler .
(/) Gupsmpiu S| ansSILD
At the point of equilibrium :
(a) Only one price prevails

(b) Quantity demanded =Quantity SuP
e supply curve

plied

(c) The demand curve intersects th
@ All the above

2 HuSSH eremg)

(1) wmhm A

(@) vwerurigen 2fle]
Production refers to :

(a) Exchange value (b) Technology

(c) Destruction of utility @ Creation of utility

Qauplsionar Qpmfled wparerGaunit ereimieut -

(=1) uGeupm) 2 DUISE Hemeusemer Srorafliivieur
() GopHS Mmadlow arigLar

(8) yoargame LweTu (Mg Lieuir

(rF) QLI srhisame LOMILILIGUT |

A successful entrepreneur is one who :

(a) Decides different combinations of factors of production
(b) Pays the lowest wage

@ Accepts innovations

(d) Avoids risks
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ETTER LIOTE Qg
G&@ pCUTE HenL&EL :
(=1) TVC/Q GuoUTS ©

(=) Ac/q
| ) TC /Q (%) TFC/Q
Average fixed cost is Obtained by divig; .
iding -
@ TVC/Q i
®) Ac/q @ TC/Q @ TFC/Q

Sl ueTCaET(®) eray SjanipdsiLHEDS!-

3 7 3 ;
(=) BawrLsmevs Qsweys Carg) (<) GOALSTOSE Qgeva}s Gar(

(@) sprafl Qeeeys Car@ (w) GodbHoas Qaaeys GCar@d
is called the planning curve.

@ Long run average cost curve (b) Short run average cost curve

(c) Average cost curve (d) Marginal cost curve

as Hleveoulad g Himeuad soflepats Glumd :
(1) MR=AR (<) MR=AC (@) MC=MR (FF) MC=AC
A firm can achieve equilibrium when its:

(@) MR=AR (b) MR=AC @ MC=MR (d) MC=AC

Beomayt Gum’igufled CyamasGan( @eueurn @mEGL :

(=1) EpCrrsH sfhg CsOID (<) Qeiigssrs @QmEELD
(@) CoaCprsd sipg Qeogd () HoLwlLors Gased
Under perfect competition, the demand curve is : |

(@) Downward sloping (b) Vertical

() Upward sloping @) - Horizontal
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15. Ler CSGMDJUW@ _—

16.

17.

(i) apppiftewmrart G

6

o Hpiid Queungio,

e () Boat wpopfen

(F) poHmfenwo
(@) Herpays GUTLL . o
Product differentiation is the salient 8 e
) . . O
@) Monopolistic competition poly
(d)  Monopoly

(©)

Guflwe QUTEHATTSTTS

Perfect competition

e epLowiLt Ar&saner :

(1) GuLllgujid LIGRT(PLD
(<1) ueTEQsTeTens WHMILD HHECSTATEn S

(&)

GU(THLOTET(LPLD Geuenay eumuILIL|LD

(/) eSeneouyd Qeuafui@HLd

The central problem of Macro Economics is :

(@)
(b)

2

(d)

au@wrer Bliarub updlu el Cari url el oQarés Scrs

Interest and Money

Monetary Policy and Fiscal Policy
Income and Employment ‘
Price and Output

Hweruhgdlermi.

(1) 2 pusHemwuib @aa)emmu_@ -

.-,\

(<) Gu@péRlauub whmio PO&Henwiwybd

(8)

()
(b)
(©)

0

BIsTeeud g6 ani_uyin

Production and Expenditure
Multiplier and accelerator

Consumption and investment

Aggregate demand and aggregatea gupply
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BIStey e 7 x 1347 (NP)
QBT fenL o9 DOHmis

Qﬂméi@é;]m@_ <A @ranh&s@n @enL CGuiwime

(1) euBomemy, oy,
, : (=) Qs@ay, (pzd6
(8) pisiay, SUBLOTaL,

() Qeea|, Gablly

Consumption funes:
n .
ction explajng the relationship between and

(2)  Income, Savings
(b) Expenditure, Investment

Consumptio
@ pton, Income (d) Expenditure, Savings
LewTs Gl&merensany é{mei)u@g@m@ .

(1) ww eurkid (<) sailurt glem

(&) eww s () wrbleo 2rs

Monetary policy is controlled by :

@7 Central Bank (b) . Private Sector
(c) Central Government (d) State Government
o Fd Hee <iflémsude @Qeur B @m _ eys
ngg}é;@&;mrmuu(aéﬂmgu.
(<=1) seellwimer ()

(1) ygw eam®

(®) @igliueL. e (%) Hdwren®

i id .
every year 15 cons ered as a :

In zero based budget

@ New year (b) Academic year
e

(c) Base year (d) Financial year
c
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25.

26.

27.

8

1/ PART - 11

U@é‘ I GT‘GG'UT 3

@glml’_wgﬂéh%mm, 2ieumPled ehlet

questiOﬂ aumber 30 is compulsory:

and
Ser Gesaeid LI ?

Answer any seven questions
%@Lﬁ]lﬂ; LomTe

QUITRETTSTTLD Lipo

State Alfred Marshall’'s definitio

69 (LI BIG(ERES T ETETTaEET W0 ?

What are the causes of wants ?

Cgeneu Qpaﬁ@éﬁuﬂm QUenEGET wmenel ?

What are the types of elasticity of demand ?

goplayL! Ljemafl eremmmev Gremen ?

What is break even point ?

oQevar CugsHan @ram(h Hlubsearser wrenel ?

What are the two conditions for price discrimination 2

LoD oarlIld GTeLIgl W) 2

What is transfer earnings ?

Guimed GUITTLD GTEIMTEd GTesent ?

What is quasi-rent ?

0 -G
Tx2=14
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@@5‘ 55'61960 BIsTey Ibrn_L.ﬁ;iﬂm@ GSHiyd HHS.

Give the for
mula
for Marginal Pmpemuy to Consume

FL_6IT TS uml
Aareyd Camum g gy EHelga wranel ?

What are the in
struments of quantitative credit control ?

Gurrflflur Qeel&Guaiear cuf - AassamsHoas &wpis.

State the Definition of a tax According to Prof. Seligman.

U@ - 11/ PART = 111
D&

Cosmib e assensE almwalssajb. efen aam 40 -
7x3=21

sL_L_muwns eSeLwail&seab.

Answer any seven questions and question aumber 40 is compulsory.

L 1b eviilgglen CleEaae Gassamrémstl UDH L G@DUTHSE®ET TS,

Examine the criticisms against Adam Smith’s wealth definition.

sl QUIHETTSTTSS6N HEanHmar eQeT&GS.

Explain the merits of a mixed economy.

8 aumiiiy cenarCar® GHudbeug erarer ?

2 HUS
What does a production possibility curve refer ?

Aouen yenrls und Sl GPILIL| QDTS

Write a short-note on Giffen Paradox.

[ Slpliys / Turn over
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35.

36.

37.

38.

39.

40.

41.

10

DBISTY. STOSHD Fwflaa cila® greleumm) gErrumeoﬂesa;uLJ@ _
How is equilibrium price determined in the market period 7 -

Qamfled wpenarGeumfles Lienflger wreedt ?

What are the functions of entrepreneur ?

WpoHmiflenoeni SL(HULHSSID @J%@@ommeﬁéﬂ wrepel ?
What are the methods of controlling monopoly ?
@-mmun@aadr wireney ?

Qnd Heow 2 HLsHs Hper LETalH Gam_umL g 6t
bution ?

What are the limitations of Marginal Productivity Theory of Distri
Senflen euqpomear Hierriuin LpHHl il Cerrurlgen arRlasrarsaman
eN6Td: (5.

: T I
What are the assumptions of Keynesian theory of Simple Income Determination ¢

ueTL oo penpuied o crer [ArFFamaEeneT cSl6nd@Ga.

Explain the difficulties of barter system.
L@ - IV /PART - IV

IemerSg NlarésErs@n allanlweféseLb. 7x5=3
Answer all the questions.
(<=t) sLJTLSHE  LE@TUSDATLD, o5 Am iy sef crenauGugyid

Brendlanamd eSlerd@s. .

316060
(<) GeopbS Ced Lwetur® e9fu@enar L ih UDTHE eflaniain o
(a) Explain the features and any four merits of socialism o
OR

Describe the Law of Diminishing Ma.. - o -

(b) & Margmal Ul‘lhty with a diagram_
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43.

44.

o 11
) m@mciasrr'_—Q Y lUeller ar@Garetaar wrae ? SCHTEEG
% BISTGay sofloeoou dasgs.

3|6V G

(<) e9enang i
_ 5 G ® | 6
S QE@LQEQIERQT Lerefl apenpuiey etelGeueng elfleurs

; Tlpgs.

(@)  What are th

e .

equilibriym u:.ssur‘npt‘mns of indifference curve analysis ? Explain consumer’s
g indifference curve approach.

OR

(b) Explain th i i
p € point method of Measurement of price elasticity of demand in detail.

(<=1) Czeneu elflenuis; =015, Coenan elfudlen offedads@sdr wrama ?

ATV
(<) sflere eflena ereueumy Siorefss LS s ramUms uaTULESIL 6
el g s.

(a) State the law of demand. What are the exceptions to the law of demand ?
OR

(b) Explain the determination of equilibrium price with a diagram.

(1) gare]| 2 HUFSHE CHTHSET T@DTD Tema ? SFem @)L sHamen
N1 5.
LNV
(<=4,) 6@ Hlmieaid Gun@srarenb LoGeum QFweismer eleréss.

What are isoquants ? Describe their characteristics.

OR

()

(b) Explain various costs incurred by a firm,

[ &imliys / Turn over
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45.

46.

47.

(1) Godlw sresde, Hapeyrs GUM1H196 eQapa LOOMID LT et I N
creveumy Bliranudés L@ eman ?

- SHe060g
() pdHpfent Gum wula elma WHym LT fisse sieray ereuauny
ﬁr‘rmrrsvﬂésa;ﬂu@aﬁ]mg TraTUnG 6916 G,

(a) How is price and output determined in the short-run under perfect
competition ?

OR

(b)  Explain the price and output determin?ltion under monopolistic competition.

(=) NssriGLrefen QJH'IJ'G‘S@&}ITLI_II'I'I'_M-GU);UT << TTs,
| 3|6060)

(<2) J.B. Geullanr oyrisasmg. el ud eneor ﬁm&nuﬁa.

(a) Examine Ricardian theory of RENT.

OR
(b)  Critically examine J.B. Say’s Law of Markets.

(1) vewr oereiB& CamLim ep afleuf&sayib.

360605
(<) plfisQardransuier Comasiise TaaGuabd pidomar claifss.
(a)  Describe the quantity theory of money,

OR
(b) Explain any five of the objectives of fiscal policy.

'000.~
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